
R(27).3 (mod 13)

blocks defect matrix

G : 1 1 8× 6
2 1 8× 6
3 0 7411 = χ3,0, ϕ3,0

4 0 7412 = χ3,1, ϕ3,1

5 0 7413 = χ3,2, ϕ3,2

6 = 3 0 7414 = χ4,0, ϕ4,0

7 = 5 0 7415 = χ4,1, ϕ4,1

8 = 4 0 7416 = χ4,2, ϕ4,2

9 0 14431 = χ5,0, ϕ5,0

10 0 14432 = χ5,1, ϕ5,1

11 0 14433 = χ5,2, ϕ5,2

12 = 9 0 14434 = χ6,0, ϕ6,0

13 = 11 0 14435 = χ6,1, ϕ6,1

14 = 10 0 14436 = χ6,2, ϕ6,2

15 0 21841 = χ7,0, ϕ7,0

16 0 21842 = χ7,1, ϕ7,1

17 0 21843 = χ7,2, ϕ7,2

18 = 15 0 21844 = χ8,0, ϕ8,0

19 = 17 0 21845 = χ8,1, ϕ8,1

20 = 16 0 21846 = χ8,2, ϕ8,2

21 0 414961 = χ9+, ϕ9+

22 0 414962 = χ12+, ϕ12+

23 0 182781 = χ15,0, ϕ15,0

24 0 182782 = χ15,1, ϕ15,1

25 = 24 0 182783 = χ15,2, ϕ15,2

26 0 548341 = χ16+, ϕ16+

27 0 808081 = χ33+, ϕ21+

Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ20,0 ϕ20,1 ϕ20,2

11 = χ1,0 1 . . . . .
12 = χ1,1 . 1 . . . .
13 = χ1,2 . . 1 . . .

196831 = χ20,0 . . . 1 . .
196832 = χ20,1 . . . . 1 .
196833 = χ20,2 . . . . . 1
590521 = χ21+ 1 1 1 1 1 1
590522 = χ24+ 1 1 1 1 1 1

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ20,0 = 196831
ϕ20,1 = 196832
ϕ20,2 = 196833



Block 2: ϕ2,0 ϕ2,1 ϕ2,2 ϕ19,0 ϕ19,1 ϕ19,2

7031 = χ2,0 1 . . . . .
7032 = χ2,1 . 1 . . . .
7033 = χ2,2 . . 1 . . .

189811 = χ19,0 . . . 1 . .
189812 = χ19,1 . . . . 1 .
189813 = χ19,2 . . . . . 1
590523 = χ27+ 1 1 1 1 1 1
590524 = χ30+ 1 1 1 1 1 1

ϕ2,0 = 7031
ϕ2,1 = 7032
ϕ2,2 = 7033
ϕ19,0 = 189811
ϕ19,1 = 189812
ϕ19,2 = 189813


